Q4. From the figure the total potential energy equal to:
16 gl 2Lial g yall SN A(ASNaga AR e lidlidila ) 4

Q._;%-,:C 0_5 D=(;ii-a'fC
N 0, T +j
“—— 4 m — 3 m —’I
@-78.3x10'31 B)+34.1x107] C)-68.9x10%]  D)+71.3x10%]  E)-65.3x10"J

Q5. If the applied electric field is 200 N/C, then the change in the proton’s electric potential
energy when moved 5m is:
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Q7- In the figure shown q =5 »C and d = 3m, the electric potential at the point p is ?
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Q8- The electric potential at the center of the circle and cube is:

A)-18V B) 11V . C)-9V D) -22V
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Q8- The electric potentigl at the center of the circle and cube is:
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Q9- The total potential (reaction energy) for the system equals:
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Q10- The electric potential difference between two points, separated by 10 m, in a region
of a uniform electric field (E = 500 N/C), parallel to the line between the two points, 1s:
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Q11- If the total energy (reaction energy) of two identical charges is 90 eV, and they are
separated by 10 nm, the charge of each is: |
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Q10- The electric potential at the center of the circle and rectangle is:
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Q10- The electric potential difference between two points, separated by 6 m, in a region
of a uniform electric field (E = 300 V/m), parallel to the line between the two points, is:
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Q11- If the total energy (reaction energy) of an electron and a proton is — 27.2 eV, then
the distance between them in (nm) equals:

| A)0.053 B)13 C) 0.27 D) 0.0038
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Q7- The electric potential difference of two points, separated by a distance d, in a uniform
electric field is proportional to: -

A) 1/d B) 1/d* C) d* (D)d )
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Q10- The electric potential at a pomt 20 m far from a point charge of 15 mC is:

A) 6.75 mV ( B)6.75 MV7 C) 0.34 mV D) 0.34 MV
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Q11- The total potential energy (interaction energy) of the charges, shown below, equals:

A)-61.7kJ B)-343kJ C)-68.5kJ D) -92.8 kJ



UnIEdd v ~- -

/ ” . 4 - .n =3

i ki 301 6.4 X 107 J JHim Ly e 555 8 x 107 Vo038 pr 68 O 3 i GO0 5 105
‘ag_,\....uu;...d\ )\A&A _).u

Ql1- A charge, moving in parallel to a umform electric field of a magnitude 8 x 10* V/m, has a
n its potential energy by 6.4 x 101 J after traveling 0.5 m. The magnitude of the charge

change i
is:
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7. Given two charges of 2 uC and 2 m away, the electric potential at the midpoint
between the two charges is:
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Q3- If the total interaction potential energy of the three charges is zero, the charge g

equals:
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Q1AL potential SCTEY dlf:ference between two points is 15 eV for a proton, the electric
potential between these points is:
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Q12- The electric potential difference between two points separated by d in a uniform
electric field F 1is: '
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Q13- The electric potential atthe center of the circle and cube is:

3InC ' """ énC.ﬁ'
® |
e .
- 3 1C @ eererermemern A 2T
B)-15.75 C)-103.5 D)-51.75

. g gl pftinl) (Je i) 28Ua) SN am gl il 1450
(14- The total potential energy of the two charges equals:
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QQ- If the electric field is uniform and the electric potential difference between two
points, separated by 5 m along the electric field, is 20 V, the electric field equals:

A) 80 (B 4) C) 0.25 D) 0.01
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Q10- The total potential energy (reaction energy) of charges shown in the figure equals:

A)15 eV B)35MJ | C)23kJ D) 35 MeV
\
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Q6. From the figure the total potential energy equal to:
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Q7. The change in the proton’s electric potential energy when moved from a to b in figure
below is:

E=200 N/C
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A) 700 eV - B)6x10%eV C) 10° eV D) 1.6 x 10*eV




QUESTION 7: Identical 2.0-uC charges are located on the vertices of a square with sides
that are 2.0 m in length. Determine the electric potential at the center of the square.
A) 38kV ( EB) 51kV 2) .~ 0)76kV  D)64kV

QUESTION 8: The average distance between the proton and the electron in the Hydrogen

atom is 5.3%10™ ' m. The electric potential energy of interaction of the two.particles is:

A)435x 10T B)435x10%7  €)82x10%] '.35 x 1078 7))
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Ql 1- If the electric potential difference between two points is 10 V, what is the potential
difference between both points for a proton?

A) 48 B) 30 C) 4.8x107'® D) 1.6x107'®
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Q12- The electric potential difference due to a uniform electric field E between two points
separated by d is:
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Q13- How much energy in Joule is in one electron Volt?

A)9.8 B) 8.85%1072 C)3.14 D) 1.6x107"
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Q14- The electric potential at the center of the circle and cube is:

A)-18 7 B)-11 D) -22
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10) Ifthe electric potential difference between two points A and B is 4x1 0* V,
the change in potential energy of an electron moving from A to B equal to:
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a. 2.5x10% eV @4x104 eV (@.4x10"J d. 7.2x1027]

11) The quantity (N.m/C) is the unit of:
:83a g 4 (Num / C) 4l

a. Electric Field Electric Potential c. Work  d. Work/unit length
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QY- The electric potential at the point a (in Q6) e uals:
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Q10- The electric potential difference IVB-VAI equals
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Wh1ch equauon does represent the electric potential difference as a function of the
electnc field E, force F, and displacement r?
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Q8- Ifthe electric potential at.the center of the two concentric circles equals zero, what is
the rad1us of the outer circle 7 ?

A5 B)?2 (O3 D) 4.5




